KART REPUBLIC

CHASSIS



KART REPUBLIC

Image SKU Product Price
K010000l10406A CHASSIS KR KR1 OK €3.893,40

K01000010409A CHASSIS KR KR2 OK €3.893,40
KO1000010411A CHASSIS KR KR3 OK €3.893,40
K020001Z0313A FRAME KR KR1 €1.320,87
CHROME
” T~ K020001Z0316A FRAME KR KR2 €1.320,87
£ N CHROME
¢ =,
LN
Z L1 N
[ S‘_\”
2 V
Pl
“r- [‘1I
K020001Z0319A FRAME KR KR3 €1.320,87

CHROME




KART REPUBLIC

K01001ZD0023A THREADED BAR €5,36

M10X90MM
e o ————

K01001ZD0039A BOLT M6X25MM €0,52

ROUND HEAD
£

K01001ZD0014W FRONT WHEEL 130 €90,23
MG

K01001ZD0494W REAR WHEEL 180 MG €104,03

K01001ZD0495W REAR WHEEL 210 MG €104,03




KART REPUBLIC

KO1000MIO069A
K010001Z0122A

K010001Z0123A

K01001ZD0516B

K01001ZD0633B

EXHAUST CRADLE

ENGINE STOP ALU
BLACK (NO BOLT)

ENGINE STOP BLACK
ANOD. ALU COMPLETE

STICKER KIT SPOILER
KR

STICKER KIT KR 2019

€10,09

€30,80

€39,29

€69,01

€143,27




KART REPUBLIC

KO1MIZDFO194A SPRING FOR EXHAUST €2,99
CRADLE

(premm————————

K01000010523F FRONT HUB KART €90,74
REPUBLIC @25-93 OK
COMPLETE

K010001Z0527F REAR HUB KART €94,97
REPUBLIC LONG
@50-108

K010001Z0207F REAR HUB KART €91,77
REPUBLIC @#50-98

K01001ZD0216A OR FOR WATER PUMP €3,19
@ 115MM

K01000010222A ALU BRACKET €28,74
EXHAUST SUPPORT[]



KART REPUBLIC

KO100MIF0226D

K01001ZD0550]

il

K010001Z0551)

K010001Z0552)

[

REPUBLIC |

" KART!

K01000010553F

1

K01001ZD0O004A

CHAIN GUARD BLACK
OK/MINI(ONLY
PLASTIC)

FLOOR TRAY KR1

FLOOR TRAY KR2

FLOOR TRAY KR3

ENGINE MOUNT
INCLINED MG
X30/ROTAX WITH
BRACKETS

FEET SUPPORT ALU
COMPLETE

€23,90

€99,40

€99,40

€99,40

€84,46

€45,94



KART REPUBLIC

KO1MIZDF0281A

o™

K01001ZD0597W

K01001ZD0598W

K01000010391A

K01000010393A

K010001Z0399A

CABLE ADJUSTER M6

SET WHEELS 130/212
MG

SET WHEELS 130/180
MG RAIN

EXHAUST SUPPORT
COMPLETE KART
REPUBLIC - BLACK

EXHAUST SUPPORT "L"
BLACK ANOD.

NYLON CAP FOR
ENGINE STOP
THREADED BAR

€2,06

€388,31

€388,31

€56,03

€11,74

€4,33



KART REPUBLIC

KO1001ZD0647A ENGINE STOP BOLT €8,49
m | | KO1MIZDF0649C GAS CABLE €3,30
GM KO1MIZDF0651C GAS/CLUTCH CABLE €2,06
SHEAT
O
KO1MIZDF0652C GAS CABLE CLAMP €5,15
KO501ZDF0477A SCREW LATHED - €5,25

THREAD HOLE FOR
BRAKE DISTRIBUTOR

KO100MIFO0641A M6 ALLUMINIUM €3,09
WASHER



KART REPUBLIC

K01000010645Z

K03001ZD0665F

K03001ZD0666F

K15MIZDF0286A

K15MIZDF0287A

K15MIZDF0474A

CHAIN GUARD
SUPPORT

BEARING CARRIER MG
KR ENGINE SIDE

BEARING CARRIER MG
KR BRAKE SIDE

RUBBER WASHER
M10X40 H.15F FOR
FIXING EXHAUST
HOLDER TO BRACKET

RUBBER WASHER M6

SCREW WITH FLANGE
TE M8X20

€7,21

€91,77

€91,77

€2,47

€1,03

€1,54



KART REPUBLIC

KO100MIFO737 KIT CHAIN GUARD €9,28

SCREWS
re‘/ - - — R
o

K1600497R KART COVER KR €63,65

KO1MIZDF0636W OR FOR RIM LOCK €0,21
SCREW

K01000010254F ENGINE MOUNT €84,46

STRAIGHT OK MG
WITH BRACKETS

‘I

'y

gl
s

fIIm

-
¥

u\‘

K01000010756F ENGINE MOUNT €84,46
STRAIGHT X30-OK MG
WITH BRACKETS

L |

KO1MIZDF0721W RIM LOCK SCREW €0,52

.-

Page: 10



KART REPUBLIC

REAR AXLES




KART REPUBLIC

Image SKU Product Price

K03001ZD0054A KEY 3 PINS D. 7,3MM €6,90
8X6X60 FOR AXLE 40
& 50MM

' -
‘ -
‘ -
K030001Z0077A REAR AXLE BEARING €51,09

50MM (D.EST.80MM)

K03000010267F SPROCKET CARRIER €72,20
50MM MG COMPLETE

K0300IZD0669A GRAIN FOR REAR AXLE €2,78
BEARING 40/50MM

K03000010629A REAR AXLE €141,01
50X2X1030MM HARD

K03000010742A REAR AXLE €141,01
50X2X1030MM HH



KART REPUBLIC

KO3000010009A REAR AXLE €141,01
50X2X1030MM
MEDIUM

KO030001Z0015A REAR AXLE €141,01

50X2X1030MM S1

KO3000010011A REAR AXLE €141,01
50X2X1030MM SOFT



KART REPUBLIC

STEERING



KART REPUBLIC

Image SKU Product Price

KO6MIZDFO003A STEERING COLUMN €5,87
LOCKING COLLAR
BLACK ANODIZED

KO1MIZDFO153A GRAIN M5X5 DIN 914 €1,65
WITH EDGE

K0600IZD0035A TRACK ROD 275MM €21,22
BLACK ANOD.

K0600IZD0036A TRACK ROD 275MM €49,96
BLACK COMPLETE
WITH UNIBALL &
NUTS

KO060IZDF0041A STUB AXLE BUSHING €2,06
H=24MM M10

K06000010740A STUB AXLE BUSHING €1,65

FOR TRACK ROD



KART REPUBLIC

KO060IZDFO0O71A

KO060IZDF0108A

KO60IDZF0110A

KO601ZDFO113A

KO060IZDF0114A

KO060IZDF0115A

BEARING STUB AXLE
6000 ZZ 26X10X8

CURVED SPACER STUB
FOR AXLE M10

SPACER M10 FOR
STUB AXLE M10
H=2MM Z.B.

ECCENTRIC "EASY"
CAMBER RING

ECCENTRIC "EASY"
BASE BLACK ANOD.

ECCENTRIC "EASY"
CASTER-CAMBER

€5,36

€2,68

€2,68

€11,54

€15,96

€12,77




KART REPUBLIC

KO060IZDF0116A

KO0601ZDFO117A

KO060IZDF0118A

KO060IZDF0119A

KO6000IFO0132A

KO6000IFO135A

ECCENTRIC "EASY"
ADJUSTABLE NUT

ECCENTRIC "EASY"
CASTER CAMBER M10
COMPLETE

ECCENTRIC EVO FOR
STUB AXLE 3° SPHERE
M10 LOWER
COMPLETE

ECCENTRIC EVO FOR
STUB AXLE 0° SPHERE
M10 LOWER
COMPLETE

STUB AXLE KART
REPUBLIC RIGHT
COMPLETE

STUB AXLE KART
REPUBLIC LEFT
COMPLETE

€4,33

€43,88

€40,99

€40,99

€116,29

€116,29




KART REPUBLIC

K06001ZD0152A

KO060IZDF0166A

K06001ZD0657G

K06000ID0213A

K06001ZD0250A

LN
>

KO6MIZDF0284A

GRAIN M5X25

KIT STUB AXLE
SPACERS L=40MM
DIAM=10MM

STEERING WHEEL KR
OK/KZ/DD2 (345)

STEERING WHEEL HUB
OK/DD2 INCL.
REGOLABILE BLACK
ANOD.

STEERING WHEEL
COLUMN KART
REPUBLIC CHROME

CURVED WASHER FOR
STUB AXLE

€1,13

€24,10

€214,24

€45,53

€55,41

€4,02



KART REPUBLIC

KO6MIZDFO300A SPECIAL IRON €1,96
WASHER FOR STUB
AXLE SPACER

KO6MIZDF0324A SEEGER 22MM FOR €1,03
STEERING WHEEL
COLUMN UNIBALL

K06001ZD0339A UPPER SPHERE FOR €7,52
KING PIN M10

K06000010345A STUB AXLE SPACER €3,50
D.25 L=10MM BLACK
ANOD.

KO06000010346A STUB AXLE SPACER €4,12
D.25 L=20MM BLACK
ANOD.

K06000010347A STUB AXLE SPACER €2,88
D.25 L=5MM BLACK
ANOD.



KART REPUBLIC

K06001ZD0349A

/\

2

K06001ZD0602G

L

KO6MIZDF0384A

KO6MIZDF0420A

KO6MIZDF0422A

KO6MIZDF0424A

STUB AXLE SPACER
14-25 OK - STEERING
HUB STOP

STEERING WHEEL
DATA SUPPORT

STEERING COLUMN
SUPPORT WITH 2
HOLES BLACK

UNIBALL RIGHT MALE
M8

UNIBALL LEFT MALE
M8

UNIBALL FOR
STEERING WHEEL
COLUMN M8

€3,19

€11,74

€5,87

€14,11

€14,11

€16,48



KART REPUBLIC

K06001ZD0430A

K06001ZD0625G

K15MIZDFOO80A

K15MIZDF0432A

K15MIZDF0450A

K15MIZDF0480A

KING PIN D10 M8 L80

STEERING WHEEL KR
OK/KZ/DD2
(STANDARD)

NUT ATB M14 LOW

H=14MM

SCREW TBEI M4X6
BRUNITA

SCREW TCEI M4X8

SCREW TSEI M4X8

€14,52

€193,12

€3,81

€1,44

€0,52

€0,52



KART REPUBLIC

KO6MIZDFO119A ECCENTRIC STUB AXLE €24,10
0 DEGREES

KO6MIZDF0663A ECCENTRIC STUB AXLE €29,87
3 DEGREES



KART REPUBLIC

BRAKE SYSTEM



KART REPUBLIC

Image SKU
K05000010004F

K05000010005F

KO05000010018A

s
!\\

K05000010496F

K05000010106F

K05000010632F

Product

O-RING REAR BRAKE
CALIPER (NEW)

O-RING MASTER
CYLINDER (NEW)

BRAKE ROD 395MM
COMPLETE OK

BRAKE PAD FIXING
CLIP (NEW)

REAR BRAKE DISC
180X17,5 (NEW)

REAR BRAKE DISC
180X17,5 COMPLETE
WITH 50MM FLOATING
DISC CARRIER (New)

Price
€1,44

€2,37

€16,48

€0,31

€158,41

€286,96




KART REPUBLIC

KO500MIFO125A SECURITY BRAKE €21,12
CABLE COMPLETE
WITH FORK

7 — ——N
g

KO1MIZDF0650C CLUTCH CABLE €3,60

KO5MIZDF0129A LONG FORK FOR €10,20
BRAKE ROD

3
KO5MIZDF0156A BLACK SHEATHS FOR €5,87

BAR (1000MM)

K05000010517F OVERHAUL KIT FOR €23,38
REAR BRAKE CALIPER
(NEW)

K05000010518F OVERHAUL KIT FOR €19,78
MASTER CYLINDER
(NEW)



KART REPUBLIC

K05000010519F KIT CAP FOR MASTER €12,15
CYLINDER TANK
(NEW)

K05000010520F SPRING FOR MASTER €9,17

CYLINDER (NEW)

3.9.9.%\

N

\ \ \!

0k \ |
§

K05000010522F 50MM DISC CARRIER €72,41
FOR FLOATING
ADAPTER COMPLETE
WITH BOLTS (NEW)

K05000010546F DUST COVER (NEW) €11,54
K05000010547F REAR BRAKE PAD €26,16
(NEW)
IS-\I.t/FR/ZO
K05000010548F BRAKE PAD FIXING PIN €2,68
(NEW)




KART REPUBLIC

K05000010259A

K05000010554F

KO05000010555F

K05000010603F

K15MIZDF0288A

K05000010631F

REAR BRAKE CALIPER
COMPLETE (NEW)

PISTON FOR REAR
BRAKE CALIPER (NEW)

PISTON FOR MASTER
CYLINDER

REAR BRAKE CALIPER
SUPPORT FOR DISC
180MM AN. BLACK
(NEW)

WASHER M10X15 FOR
BRAKE CALIPER

MASTER CYLINDER KR
(NEW)

€381,92

€9,27

€12,77

€84,87

€1,65

€154,29




KART REPUBLIC

KO50MZDF0196A CABLE CLAMP FOR €3,81
MECHANIC BRAKE
WITH 2 SCREWS

K05001ZD0419F REAR BRAKE TUBE €35,02
(NEW)
C——f—!ﬂ" U
KO5000010686F BLEEDER FOR REAR €6,80

BRAKE CALIPER (NEW)



KART REPUBLIC

Ex (262

FUEL TANK




KART REPUBLIC

Image SKU Product Price

K05001ZD0220A ORING FOR FUEL TANK €1,65
FERRULE 1,78X26,70

KO7MIZDFO159A TIE -ROD GASKET OR €1,65
DIAM. 6,20 X 1,7

KO07001ZD0277A LOW PIPE FITTING FOR €4,84
PETROL TANK 100CC-
PLASTIC

K07001ZD0278A HIGH PIPE FITTING FOR  €4,84
FUEL TANK 100/125C -
PLASTIC

KO07000010328A FUEL TANK 9,0 LT. OK- €50,98
OKJ EXTRACTABLE

o

KO7MIZDF0329A RECOVERY TANK €4,84



KART REPUBLIC

K07001ZD0348A ALLUMINIUM SPACER €4,84
FOR M8 FUEL TANK
BLACK ANOD-

KO07001ZD0402A FUEL TANK CAP BLACK €7,52
WITH VALVE

K07001ZD0403A SMALL FUEL TANK CAP €3,81

ALU WITH HOLE

KO7MIZDF0417M FUEL PIPE KR €2,27

K15MIZDFO307A COUNTERSUNK €2,68
WASHER M8 ALU
BLACK

KO070000Z0276A LOW PIPE FITTING FOR €4,84
TANK SUCTION 125CC
- BRASS



PEDALS



KART REPUBLIC

Image SKU Product Price

KO9MIZDF0026A BUSH WITH ROLLERS €5,36
AND M8 HOLE FOR
PEDAL

K09001ZD0670A PEDAL STOP LOW €10,20
COMPLETE
(GAS/BRAKE)

KO9MIZDFO057A SMALL COLUMN STOP- €5,87
PEDAL
KO9MIZDF0144A AXIAL CAGE WITH €8,03

ROLLERS AND M8
HOLE FOR PEDAL

K09001ZD0192A GAS PEDAL SPRING €8,65
K09001ZD0234A GAS PEDAL COMPLETE €90,23
KART REPUBLIC -
BLACK



KART REPUBLIC

K09001ZD0235A

KO9MIZDF0279A

KO9MIZDF0280A

K0100IZD0630X

K15MIZDFO307A

KO09001ZD0193A

BRAKE PEDAL
COMPLETE KART
REPUBLIC - BLACK

WASHER M8
(THICKNESS 1MM) FOR
PEDAL

WASHER M8
(THICKNESS 2,5MM)
FOR PEDAL

BACK CONTROL PEDAL
KR W/ SUPPORT

COUNTERSUNK
WASHER M8 ALU
BLACK

BRAKE PEDAL SPRING

€90,23

€2,68

€4,84

€109,28

€2,68

€8,65




KART REPUBLIC

KO9MIZDF1000A PEDAL BOLT €12,37

.

K03001ZD0695Z SUPPORT FOR BACK €15,45
CONTROL PEDAL

[’



KART REPUBLIC

STABILIZER



KART REPUBLIC

Image SKU Product Price
K10001ZD0022F FRONT STABILIZER €31,83
NYLON

K10001ZD0498F CLAMP FOR FRONT €10,61
STABILIZER




KART REPUBLIC

BODYWORKS / BUMPERS




KART REPUBLIC

Image SKU
K04001ZD0028A

K04001ZD0029A

K04MIZDFO030A

K04001ZD0048A

K04001ZD0047A

KO04MIZDFO145A

Product

REAR BUMPER
BUSHING HIGH FOR
TUBE 30MM BLACK
ANOD.

REAR BUMPER
BUSHING HIGH FOR
TUBE 32MM BLACK
ANOD.

REAR BUMPER
BUSHING LOW BLACK
ANOD.

SIDE POD KR BLACK

SIDE POD KR WHITE

CLAMP FOR FRONT
SPOILER

Price
€3,91

€3,91

€2,88

€44,60

€39,35

€14,01



KART REPUBLIC

K04001ZD0149A

K04001ZD0150A

KO4MIZDFO165A

K04MIZDFO167A

K04MIZDFO168A

K04001ZD0177A

REAR BUMPER
RUBBER FOR TUBE
30MM

REAR BUMPER
RUBBER FOR TUBE
32MM

FIXING KIT FOR REAR
SPOILER CIK FIA

CIK-FIA FIXING KIT FOR
FRONT SPOILER
COMPLETE

FIXED FIXING KIT FOR
FRONT SPOILER
COMPLETE

REAR BUMPER
MOUNTING KIT FOR
30MM TUBE

€3,09

€3,09

€75,60

€51,60

€51,60

€26,57




KART REPUBLIC

K04001ZD0178A

K04001ZD0227A

K04001ZD0229A

K04001ZD0272A

K04001ZD0271A

l

L S =¥

K04001ZD0356A

REAR BUMPER
MOUNTING KIT FOR
32MM TUBE

UPPER FRONT BUMPER
CHROME

BOTTOM FRONT
BUMPER CHROME

FRONT FAIRING
DYNAMICA BLACK

FRONT FAIRING
DYNAMICA WHITE

FRONT SPOILER
EUROSTAR DYNAMICA
017/BF/36 BLACK

€26,57

€48,82

€38,62

€79,62

€74,26

€77,46



KART REPUBLIC

K04001ZD0355A

K04001ZD0358A

K04001ZD0360A

K04001ZD0362A

K04001ZD0363A

KO4MIZDFO371A

FRONT SPOILER
EUROSTAR DYNAMICA
017/BF/36 WHITE

REAR SPOILER
EUROSTAR WINGS CIK
2014-20 BLACK

UPPER BRACKET FOR
DYNAMICA FRONT
FAIRING CHROME

LOWER BRACKET FOR
DYNAMICA FRONT
FAIRING CHROME

LOWER CROSS
BRACKET FOR
DYNAMICA FRONT
FAIRING CHROME

PLASTIC BRACKET FOR
FRONT BUMPER

€72,20

€67,46

€16,48

€11,74

€17,51

€4,53



KART REPUBLIC

K04MIZDF0372A BRACKET FOR REAR €29,25
SPOILER FLAT

K04MIZDF0O373A BRACKET FOR REAR €26,78
SPOILER VERTICAL

K0400I1ZD0377A SIDE POD SUPPORT €58,61
RIGHT CHROME

K04001ZD0379A SIDE POD SUPPORT €58,61
LEFT CHROME
K15MIZDF0302A COUNTERSUNK €3,30

WASHER D=20MM
HOLE=6 ALU ANOD.

K04MIZDFO656A REAR BUMPER FIXING €4,33
BOLT



KART REPUBLIC

K04001ZD0331A KIT BODYWORKS €246,00
COMPLETE BLACK

K04001ZD0330A KIT BODYWORKS €225,00
-, = ‘ COMPLETE WHITE
K04MIZDF0710D PLASTIC BRACKET FOR €12,00
FRONT BUMPER
= — COMPL.



KART REPUBLIC

i diird

1 LAY -

SEATS



KART REPUBLIC

Image SKU
K11MIZDF0593H

N/A

N/A

K11001ZD0386A

K11001ZD0387A

K15MIZDF0282A

Product
SEAT KR STANDARD

SEAT JECKO SILVER
SOFT

SEAT JECKO SILVER
CLOSEDGE

EXTRA SEAT SUPPORT
250MM OVAL
CHROME

EXTRA SEAT SUPPORT
280MM OVAL
CHROME

ALU WASHER M8X45
(SEAT SPACER)

Price
€74,26

€128,75 - €185,40

€149,35 - €206,00

€9,37

€9,37

€4,22




KART REPUBLIC

K15MIZDF0283A

K15MIZDF0298A

K11MIZDFO351A

«»

. —
_ -

K11MIZDF0352A

F 1
\\

4
\

K11MIZDF0O353A

B

R —

A\

T

ALU WASHER M8X60
(SEAT SPACER)

COUNTERSUNK
WASHER FOR SEAT M8
BLACK ANOD.

SEAT SPACER ALU
10MM

SEAT SPACER ALU
20MM

SEAT SPACER ALU
30MM

€6,80

€2,68

€3,60

€5,05

€5,66



